2GT09° Test n°4

20 minutes

Exercice 1 | 4 points

Résoudre dans IR les inéquations suivantes et donner les solutions sous forme d’intervalles.

1. 5x +12 >3 3. 98-5x>-65
8—x
2. 12x+2<11 4 12x+7 < —=
1. 2. 3. 4.
8§—x
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5> -9 12x <9 -5x > -163 3(123( + 7) <8—x
<2 Lo 163 36x+21 <8—x
x> —= — 12 - -5
5 x<3 <163 37x < -13
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Exercice 2 | 2 points
Résoudre dans IR les inéquations suivantes et donner les solutions sous forme d’intervalles.
1. 53 <-7x+4 < 81 2. =5x +25 >100 > —b5x
1. 2.
53 < -7x+4 <81 —5x + 25 >100 > —-5x
49 < -7x <77 =5x +25 + 5x > 100 + 5x > —5x + 5x
49 77 25>100+5x>0
—>x>—
-7 -7 -75 > 5x > -100
-7 >2x2>-11 -15>x>-20

7 =[11;-7] 7 =1720;715]
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